



Refinements of some Berezin number inequalities and related questions

Ulaş Yamancı¹ · Messaoud Guesba²

Received: 28 March 2022 / Accepted: 12 June 2022 / Published online: 13 July 2022
© The Author(s), under exclusive licence to The Forum D'Analystes 2022

Abstract

In this paper, we obtain some inequalities for the Berezin number of operators on reproducing kernel Hilbert spaces. These inequalities improve on some earlier related inequalities. In addition, related Berezin number inequalities are also given.

Keywords Berezin number · Reproducing kernel Hilbert space · Inequality

Mathematics Subject Classification Primary 47A63

1 Introduction and terminologies

Throughout this paper, $\mathcal{B}(\mathcal{H})$ denotes the C^* - algebra of all linear bounded operators acting on a non trivial complex Hilbert space \mathcal{H} with inner product $\langle \cdot, \cdot \rangle$ and associated norm $\|\cdot\|$. Let Ω be a nonempty set. A functional Hilbert space $\mathcal{H} = \mathcal{H}(\Omega)$ is a Hilbert space of complex valued functions, which has the property that point evaluations are continuous, i.e., for each $\lambda \in \Omega$ the map $f \mapsto f(\lambda)$ is a continuous linear functional on \mathcal{H} . The Riesz representation theorem ensues that for each $\lambda \in \Omega$ there exists a unique element $k_\lambda \in \mathcal{H}$ such that $f(\lambda) = \langle f, k_\lambda \rangle$ for all $f \in \mathcal{H}$. The set $\{k_\lambda : \lambda \in \Omega\}$ is called the reproducing kernel of the space \mathcal{H} . If $\{e_n\}_{n \geq 0}$ is an orthonormal basis for a functional Hilbert space \mathcal{H} , then the reproducing kernel of \mathcal{H}

Communicated by Samy Ponnusamy.

✉ Ulaş Yamancı
ulasyamanci@sdu.edu.tr

Messaoud Guesba
guesba-messaoud@univ-eloued.dz

¹ Department of Statistics, Suleyman Demirel University, 32260 Isparta, Turkey

² Department of Mathematics, El Oued University, 39000 El Oued, Algeria

is given by $k_\lambda(z) = \sum_{n=0}^{+\infty} \overline{e_n(\lambda)} e_n(z)$ (see [8]). For $\lambda \in \Omega$, let $\hat{k}_\lambda = \frac{k_\lambda}{\|k_\lambda\|}$ be the normalized reproducing kernel of \mathcal{H} . Let A a bounded linear operator on \mathcal{H} , the Berezin symbol of A , which firstly have been introduced by Berezin [3, 4] is the function \tilde{A} on Ω defined by

$$\tilde{A}(\lambda) := \langle A\hat{k}_\lambda, \hat{k}_\lambda \rangle.$$

The Berezin set and the Berezin number of the operator A are defined respectively by:

$$\mathbf{Ber}(A) := \left\{ \langle A\hat{k}_\lambda, \hat{k}_\lambda \rangle : \lambda \in \Omega \right\},$$

and

$$\mathbf{ber}(A) := \sup \left\{ \left| \langle A\hat{k}_\lambda, \hat{k}_\lambda \rangle \right| : \lambda \in \Omega \right\}.$$

It is clear that the Berezin symbol \tilde{A} is the bounded function on Ω whose value lies in the numerical range of the operator A and hence for any $A \in \mathcal{B}(\mathcal{H})$,

$$\mathbf{Ber}(A) \subset W(A) \text{ and } \mathbf{ber}(A) \leq \omega(A),$$

where

$$W(A) = \{ \langle Ax, x \rangle : x \in \mathcal{H}, \|x\| = 1 \},$$

is the numerical range of the operator A and

$$\omega(A) = \{ |\langle Ax, x \rangle| : x \in \mathcal{H}, \|x\| = 1 \},$$

is the numerical radius of A .

Moreover, the Berezin number of an operator A satisfies the following properties:

- (i) $\mathbf{ber}(A) \leq \|A\|$.
- (ii) $\mathbf{ber}(\alpha A) = |\alpha| \mathbf{ber}(A)$ for all $\alpha \in \mathbb{C}$.
- (iii) $\mathbf{ber}(A + B) \leq \mathbf{ber}(A) + \mathbf{ber}(B)$ for all $A, B \in \mathcal{B}(\mathcal{H})$.

Notice that, in general, the Berezin number does not define a norm. However, if \mathcal{H} is a reproducing kernel Hilbert space of analytic functions, (for instance on the unit disc $D = \{z \in \mathbb{C} : |z| < 1\}$), then $\mathbf{ber}(\cdot)$ defines a norm on $\mathcal{B}(\mathcal{H}(D))$ (see [9, 10]).

The Berezin symbol has been studied in detail for Toeplitz and Hankel operators on Hardy and Bergman spaces. A nice property of the Berezin symbol is mentioned next. If $\tilde{A}(\lambda) = \tilde{B}(\lambda)$ for all $\lambda \in \Omega$, then $A = B$. Therefore, the Berezin symbol uniquely determines the operator. The Berezin symbol and Berezin number have been studied by many mathematicians over the years, a few of them are [2, 5–7, 14–16].

In this paper we introduce some refinements of Berezin number inequalities on reproducing kernel Hilbert spaces. Some of the obtained results refinement the following paper [1, 5, 12].

2 Main results

In this section, we present our results. First, we start with the following lemmas that will be used to develop new results in this paper.

Lemma 1 [13] *Let a_i ($i = 1, 2, \dots, n$) be a positive real number and $r \geq 1$. Then*

$$\left(\sum_{i=1}^n a_i\right)^r \leq n^{r-1} \sum_{i=1}^n a_i^r.$$

Lemma 2 [11] *Let $T \in B(\mathcal{H})$ be a positive operator and let $x \in \mathcal{H}$ such that $\|x\| = 1$. Then*

$$\langle Tx, x \rangle^r \leq \langle T^r x, x \rangle \text{ for } r \geq 1.$$

Lemma 3 [11] *Let $T \in B(\mathcal{H})$ and let f and g be non-negative continuous functions on $[0, +\infty)$ such that $f(t)g(t) = t$ for all $t \in [0, +\infty)$. Then*

$$|\langle Tx, y \rangle|^2 \leq \langle f^2(|T|)x, x \rangle \langle g^2(|T^*|)y, y \rangle,$$

for all $x, y \in \mathcal{H}$.

The following Theorem is proved in [12].

Theorem 1 *Let $A_i, X_i, B_i \in B(\mathcal{H})$ ($i = 1, 2, \dots, n$), $r \geq 1$ and let f and g be non-negative continuous functions on $[0, +\infty)$ satisfying the relation $f(t)g(t) = t$ ($t \in [0, +\infty)$). Then*

$$\mathbf{ber}^r \left(\sum_{i=1}^n A_i^* X_i B_i \right) \leq \frac{n^{r-1}}{2} \mathbf{ber} \left(\sum_{i=1}^n ([A_i^* g^2(|X_i^*|) A_i]^r + [B_i^* f^2(|X_i|) B_i]^r) \right).$$

The first main result in this section is refinement of the above Theorem.

Theorem 2 *Let $A_i, X_i, B_i \in B(\mathcal{H})$ ($i = 1, 2, \dots, n$) and let f and g be non-negative continuous functions on $[0, +\infty)$ satisfying the relation $f(t)g(t) = t$ ($t \in [0, +\infty)$). Then*

$$\mathbf{ber}^r \left(\sum_{i=1}^n A_i^* X_i B_i \right) \leq \frac{n^{r-1}}{2} \mathbf{ber} \left(\sum_{i=1}^n ([A_i^* g^2(|X_i^*|) A_i]^r + [B_i^* f^2(|X_i|) B_i]^r) \right) - \frac{n^{r-1}}{2} \inf_{\|\hat{k}_\lambda\|=1} \eta(\hat{k}_\lambda),$$

where

$$\eta(\hat{k}_\lambda) = \sum_{i=1}^n \left(\left\langle [A_i^* g^2(|X_i^*|) A_i]^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} - \left\langle [B_i^* f^2(|X_i|) B_i]^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^2,$$

for $r \geq 1$.

Proof Let \hat{k}_λ be the normalized reproducing kernel of \mathcal{H} , then

$$\begin{aligned} & \left| \left\langle \left(\sum_{i=1}^n A_i^* X_i B_i \right) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right|^r \\ &= \left| \sum_{i=1}^n \left\langle (A_i^* X_i B_i) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right|^r \\ &\leq \sum_{i=1}^n \left| \left\langle A_i^* X_i B_i \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right|^r \\ &= \sum_{i=1}^n \left| \left\langle X_i B_i \hat{k}_\lambda, A_i \hat{k}_\lambda \right\rangle \right|^r \\ &\leq \left(\sum_{i=1}^n \left\langle f^2(|X_i|) B_i \hat{k}_\lambda, B_i \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \left\langle g^2(|X_i^*|) A_i \hat{k}_\lambda, A_i \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^r \\ &\quad \text{(by using Lemma 2)} \\ &\leq n^{r-1} \sum_{i=1}^n \left\langle f^2(|X_i|) B_i \hat{k}_\lambda, B_i \hat{k}_\lambda \right\rangle^{\frac{r}{2}} \left\langle g^2(|X_i^*|) A_i \hat{k}_\lambda, A_i \hat{k}_\lambda \right\rangle^{\frac{r}{2}} \\ &\quad \text{(by using Lemma 2)} \\ &\leq n^{r-1} \sum_{i=1}^n \left\langle (B_i^* f^2(|X_i|) B_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \left\langle (A_i^* g^2(|X_i^*|) A_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \\ &\quad \text{(by using Lemma 1)} \\ &= \frac{n^{r-1}}{2} \left[\sum_{i=1}^n \left(\left\langle (B_i^* f^2(|X_i|) B_i)^r k_\lambda, k_\lambda \right\rangle + \left\langle (A_i^* g^2(|X_i^*|) A_i)^r k_\lambda, k_\lambda \right\rangle \right) \right. \\ &\quad \left. - \frac{n^{r-1}}{2} \left[\sum_{i=1}^n \left(\left\langle (B_i^* f^2(|X_i|) B_i)^r k_\lambda, k_\lambda \right\rangle^{\frac{1}{2}} - \left\langle (A_i^* g^2(|X_i^*|) A_i)^r k_\lambda, k_\lambda \right\rangle^{\frac{1}{2}} \right)^2 \right] \right] \\ \text{(since } \sqrt{a}\sqrt{b} &= \frac{a+b}{2} - \frac{(\sqrt{a}-\sqrt{b})^2}{2} \text{ where } a, b \geq 0) \\ &= \frac{n^{r-1}}{2} \left[\sum_{i=1}^n \left\langle ((B_i^* f^2(|X_i|) B_i)^r + (A_i^* g^2(|X_i^*|) A_i)^r) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right. \\ &\quad \left. - \frac{n^{r-1}}{2} \left[\sum_{i=1}^n \left(\left\langle (B_i^* f^2(|X_i|) B_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} - \left\langle (A_i^* g^2(|X_i^*|) A_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^2 \right] \right] \\ &\leq \frac{n^{r-1}}{2} \mathbf{ber} \left(\sum_{i=1}^n ([A_i^* g^2(|X_i^*|) A_i]^r + [B_i^* f^2(|X_i|) B_i]^r) \right) \\ &\quad - \frac{n^{r-1}}{2} \left[\sum_{i=1}^n \left(\left\langle (B_i^* f^2(|X_i|) B_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} - \left\langle (A_i^* g^2(|X_i^*|) A_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^2 \right]. \end{aligned}$$

Now, by taking supremum over $\lambda \in \Omega$, we get the desired inequality. \square

Corollary 1 Let $A_i, X_i, B_i \in B(\mathcal{H})$ ($i = 1, 2, \dots, n$), $r \geq 1$ and $0 \leq p \leq 1$. Then

$$\mathbf{ber}^r \left(\sum_{i=1}^n A_i^* X_i B_i \right) \leq \frac{n^{r-1}}{2} \mathbf{ber} \left(\sum_{i=1}^n \left([A_i^* |X_i^*|^{2(1-p)} A_i]^r + [B_i^* |X_i|^{2p} B_i]^r \right) \right) - \frac{n^{r-1}}{2} \inf_{\|\hat{k}_\lambda\|=1} \eta(\hat{k}_\lambda),$$

where

$$\eta(\hat{k}_\lambda) = \sum_{i=1}^n \left(\left\langle [A_i^* |X_i^*|^{2(1-p)} A_i]^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} - \left\langle [B_i^* |X_i|^{2p} B_i]^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^2.$$

Proof The result follows immediately from Theorem 2 for $f(t) = t^p$ and $g(t) = t^{1-p}$ ($0 \leq p \leq 1$). □

For $A_i = B_i = I$ ($i = 1, 2, \dots, n$) in Theorem 2 we get the following result.

Corollary 2 Let $X_i \in B(\mathcal{H})$ ($i = 1, 2, \dots, n$) and let f and g as in Theorem 2. Then

$$\mathbf{ber}^r \left(\sum_{i=1}^n X_i \right) \leq \frac{n^{r-1}}{2} \mathbf{ber} \left(\sum_{i=1}^n g^{2r}(|X_i^*|) + f^{2r}(|X_i|) \right) - \frac{n^{r-1}}{2} \inf_{\|\hat{k}_\lambda\|=1} \eta(\hat{k}_\lambda),$$

where

$$\eta(\hat{k}_\lambda) = \sum_{i=1}^n \left(\left\langle g^{2r}(|X_i^*|) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} - \left\langle f^{2r}(|X_i|) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^2,$$

for $r \geq 1$.

Remark 1 (1) If we take $f(t) = t^p$ and $g(t) = t^{1-p}$ ($0 \leq p \leq 1$) in Corollary 2, then

$$\mathbf{ber}^r \left(\sum_{i=1}^n X_i \right) \leq \frac{n^{r-1}}{2} \mathbf{ber} \left(\sum_{i=1}^n |X_i|^{2rp} + |X_i^*|^{2r(p-1)} \right) - \frac{n^{r-1}}{2} \inf_{\|\hat{k}_\lambda\|=1} \eta(\hat{k}_\lambda),$$

where

$$\eta(\hat{k}_\lambda) = \sum_{i=1}^n \left(\left\langle |X_i^*|^{2r(p-1)} \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} - \left\langle |X_i|^{2rp} \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^2,$$

for $r \geq 1$.

(2) Taking $f(t) = g(t) = t^{\frac{1}{2}}$ ($t \in [0, +\infty)$) and $r = 1$ in Corollary 2, we get

$$\mathbf{ber}^r\left(\sum_{i=1}^n X_i\right) \leq \frac{1}{2} \mathbf{ber}\left(\sum_{i=1}^n |X_i| + |X_i^*|\right) - \frac{1}{2} \inf_{\|\hat{k}_\lambda\|=1} \eta(\hat{k}_\lambda),$$

where

$$\eta(\hat{k}_\lambda) = \sum_{i=1}^n \left(\left\langle |X_i^*| \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} - \left\langle |X_i| \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^2.$$

For $X_i = I$ ($i = 1, 2, \dots, n$), $r \geq 1$ and $f(t) = g(t) = t^{\frac{1}{2}}$ ($t \in [0, +\infty)$) in Theorem 2 we get the following inequality.

Corollary 3 *Let $A_i, B_i \in B(\mathcal{H})$ ($i = 1, 2, \dots, n$) and $r \geq 1$. Then*

$$\mathbf{ber}^r\left(\sum_{i=1}^n A_i^* B_i\right) \leq \frac{n^{r-1}}{2} \mathbf{ber}\left(\sum_{i=1}^n (|A_i|^{2r} + |B_i|^{2r})\right) - \frac{n^{r-1}}{2} \inf_{\|\hat{k}_\lambda\|=1} \eta(\hat{k}_\lambda),$$

where

$$\eta(\hat{k}_\lambda) = \sum_{i=1}^n \left(\left\langle |A_i|^{2r} \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} - \left\langle |B_i|^{2r} \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^2.$$

Remark 2 For $n = 1$ in Corollary 2, we get

$$\mathbf{ber}^r(A^* B) \leq \frac{1}{2} \mathbf{ber}((A^* A)^r + (B^* B)^r) - \frac{1}{2} \inf_{\|\hat{k}_\lambda\|=1} \eta(\hat{k}_\lambda),$$

where

$$\eta(\hat{k}_\lambda) = \left(\left\langle (A^* A)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} - \left\langle (B^* B)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^2.$$

In [5] the authors proved the following theorem.

Theorem 3 *Let $A_i, X_i, B_i \in B(\mathcal{H})$ ($i = 1, 2, \dots, n$), $r \geq 1$ and let f and g be non-negative continuous functions on $[0, +\infty)$ satisfying the relation $f(t)g(t) = t$ ($t \in [0, +\infty)$). Then for all $r \geq 1$, we have.*

$$\mathbf{ber}^r\left(\sum_{i=1}^n A_i^* X_i B_i\right) \leq \frac{n^{r-1}}{\sqrt{2}} \mathbf{ber}\left(\sum_{i=1}^n ([A_i^* g^2(|X_i^*|) A_i]^r + i [B_i^* f^2(|X_i|) B_i]^r)\right).$$

In the following theorem we introduce a refinement of the above Theorem.

Theorem 4 *Let $A_i, X_i, B_i \in B(\mathcal{H})$ ($i = 1, 2, \dots, n$) and let f and g be non-negative continuous functions on $[0, +\infty)$ satisfying the relation $f(t)g(t) = t$ ($t \in [0, +\infty)$). Then for all $r \geq 1$, we have.*

$$\mathbf{ber}^r \left(\sum_{i=1}^n A_i^* X_i B_i \right) \leq \frac{n^{r-1}}{\sqrt{2}} \mathbf{ber} \left(\sum_{i=1}^n ([A_i^* g^2(|X_i^*|) A_i]^r + i [B_i^* f^2(|X_i|) B_i]^r) \right) - \frac{n^{r-1}}{2} \inf_{\|\hat{k}_\lambda\|=1} \eta(\hat{k}_\lambda),$$

where

$$\eta(\hat{k}_\lambda) = \sum_{i=1}^n \left(\left\langle [A_i^* g^2(|X_i^*|) A_i]^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} - \left\langle [B_i^* f^2(|X_i|) B_i]^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^2.$$

Proof Let \hat{k}_λ be the normalized reproducing kernel of \mathcal{H} , then

$$\begin{aligned}
 & \left| \left\langle \left(\sum_{i=1}^n A_i^* X_i B_i \right) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right|^r \\
 &= \left| \sum_{i=1}^n \left\langle A_i^* X_i B_i \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right|^r \\
 &\leq \sum_{i=1}^n \left| \left\langle A_i^* X_i B_i \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right|^r \\
 &= \sum_{i=1}^n \left| \left\langle X_i B_i \hat{k}_\lambda, A_i \hat{k}_\lambda \right\rangle \right|^r \\
 &\leq \left(\sum_{i=1}^n \left\langle f^2(|X_i|) B_i \hat{k}_\lambda, B_i \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \left\langle g^2(|X_i^*|) A_i \hat{k}_\lambda, A_i \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^r \\
 &\quad \text{(by using Lemma 3)} \\
 &\leq n^{r-1} \sum_{i=1}^n \left\langle f^2(|X_i|) B_i \hat{k}_\lambda, B_i \hat{k}_\lambda \right\rangle^{\frac{r}{2}} \left\langle g^2(|X_i^*|) A_i \hat{k}_\lambda, A_i \hat{k}_\lambda \right\rangle^{\frac{r}{2}} \\
 &\quad \text{(by using Lemma 1)} \\
 &\leq n^{r-1} \sum_{i=1}^n \left\langle (B_i^* f^2(|X_i|) B_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \left\langle (A_i^* g^2(|X_i^*|) A_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \\
 &\quad \text{(by using Lemma 2)} \\
 &= \frac{n^{r-1}}{2} \left[\sum_{i=1}^n \left(\left\langle (A_i^* g^2(|X_i^*|) A_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle + \left\langle (B_i^* f^2(|X_i|) B_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right) \right] \\
 &\quad - \frac{n^{r-1}}{2} \sum_{i=1}^n \left(\left\langle (B_i^* f^2(|X_i|) B_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} - \left\langle (A_i^* g^2(|X_i^*|) A_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^2 \\
 &\leq \frac{n^{r-1}}{\sqrt{2}} \left[\sum_{i=1}^n \left(\left\langle (B_i^* f^2(|X_i|) B_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle + i \left\langle (A_i^* g^2(|X_i^*|) A_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right) \right] \\
 &\quad - \frac{n^{r-1}}{2} \sum_{i=1}^n \left(\left\langle (B_i^* f^2(|X_i|) B_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} - \left\langle (A_i^* g^2(|X_i^*|) A_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^2 \\
 &= \frac{n^{r-1}}{\sqrt{2}} \left[\sum_{i=1}^n \left((A_i^* f^2(|X_i|) A_i)^r + i (B_i^* g^2(|X_i^*|) B_i)^r \right) \hat{k}_\lambda, \hat{k}_\lambda \right] \\
 &\quad - \frac{n^{r-1}}{2} \sum_{i=1}^n \left(\left\langle (B_i^* f^2(|X_i|) B_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} - \left\langle (A_i^* g^2(|X_i^*|) A_i)^r \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^2 \\
 &\quad \text{(as } |a + b| \leq \sqrt{2}|a + ib|, \forall a, b \in \mathbb{R}) \\
 &\leq \frac{n^{r-1}}{\sqrt{2}} \mathbf{ber} \left(\sum_{i=1}^n \left([A_i^* g^2(|X_i^*|) A_i]^r + i [B_i^* f^2(|X_i|) B_i]^r \right) \right) - \frac{n^{r-1}}{2} \inf_{\|\hat{k}_\lambda\|=1} \eta(\hat{k}_\lambda),
 \end{aligned}$$

where

$$\eta(k_\lambda) = \sum_{i=1}^n \left(\left\langle [A_i^* g^2(|X_i^*|) A_i]^r k_\lambda, k_\lambda \right\rangle^{\frac{1}{2}} - \left\langle [B_i^* f^2(|X_i|) B_i]^r k_\lambda, k_\lambda \right\rangle^{\frac{1}{2}} \right)^2.$$

By taking supremum over $\lambda \in \Omega$, we get

$$\mathbf{ber}^r \left(\sum_{i=1}^n A_i^* X_i B_i \right) \leq \frac{n^{r-1}}{\sqrt{2}} \mathbf{ber} \left(\sum_{i=1}^n ([A_i^* g^2(|X_i^*|) A_i]^r + i [B_i^* f^2(|X_i|) B_i]^r) \right) - \frac{n^{r-1}}{2} \inf_{\|\hat{k}_\lambda\|=1} \eta(\hat{k}_\lambda).$$

This completes the proof. □

Putting $f(t) = t^p$ and $g(t) = t^{1-p}$ ($0 \leq p \leq 1$) in Theorem 4 we get the following corollary.

Corollary 4 *Let $A_i, X_i, B_i \in B(\mathcal{H})$ ($i = 1, 2, \dots, n$) and let f and g be non-negative continuous functions on $[0, +\infty)$ satisfying the relation $f(t)g(t) = t$ ($t \in [0, +\infty)$). Then*

$$\mathbf{ber}^r \left(\sum_{i=1}^n X_i \right) \leq \frac{n^{r-1}}{\sqrt{2}} \mathbf{ber} \left(\sum_{i=1}^n (g^{2r}(|X_i^*|) + i f^{2r}(|X_i|)) \right) - \frac{n^{r-1}}{2} \inf_{\|\hat{k}_\lambda\|=1} \eta(\hat{k}_\lambda),$$

where

$$\eta(\hat{k}_\lambda) = \sum_{i=1}^n \left(\left\langle g^{2r}(|X_i^*|) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} - \left\langle f^{2r}(|X_i|) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^2,$$

for all $r \geq 1$.

Proof Taking $A_i = B_i = I$ ($i = 1, 2, \dots, n$) in Theorem 4 we deduce the desired result. □

Next, taking $n = 1, r = 1$ and $f(t) = g(t) = t^{\frac{1}{2}}$ in Corollary 4 we get the following inequality

Corollary 5 *Let $T \in B(\mathcal{H})$. Then*

$$\mathbf{ber}(T) \leq \frac{1}{\sqrt{2}} \mathbf{ber}(|T^*| + i|T|) - \frac{1}{2} \inf_{\|\hat{k}_\lambda\|=1} \eta(\hat{k}_\lambda),$$

where

$$\eta(\hat{k}_\lambda) = \sum_{i=1}^n \left(\left\langle |T^*| \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} - \left\langle |T| \hat{k}_\lambda, \hat{k}_\lambda \right\rangle^{\frac{1}{2}} \right)^2,$$

Now, we are in a position to prove the following result.

Theorem 5 *Let $T_i \in B(\mathcal{H})$ ($i = 1, 2, \dots, n$) with the Cartesian decomposition $T_i = A_i + iB_i$ for $i = 1, 2, \dots, n$. Then*

$$\mathbf{ber}^r\left(\sum_{i=1}^n T_i\right) \leq 2^{\frac{r}{2}-1} n^{r-1} \sum_{i=1}^n \mathbf{ber}(|A_i|^r + |B_i|^r).$$

Proof Let \hat{k}_λ be the normalized reproducing kernel of \mathcal{H} , then we have

$$\begin{aligned} & \left| \left\langle \left(\sum_{i=1}^n T_i \right) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right|^r \\ &= \left| \sum_{i=1}^n \langle T_i \hat{k}_\lambda, \hat{k}_\lambda \rangle \right|^r \\ &\leq \left(\sum_{i=1}^n \left| \langle T_i \hat{k}_\lambda, \hat{k}_\lambda \rangle \right| \right)^r \\ &= \left(\sum_{i=1}^n \left| \langle A_i \hat{k}_\lambda, \hat{k}_\lambda \rangle + i \langle B_i \hat{k}_\lambda, \hat{k}_\lambda \rangle \right| \right)^r \\ &= \left(\sum_{i=1}^n \left(\left| \langle A_i \hat{k}_\lambda, \hat{k}_\lambda \rangle \right|^2 + \left| \langle B_i \hat{k}_\lambda, \hat{k}_\lambda \rangle \right|^2 \right)^{\frac{1}{2}} \right)^r \\ &\leq \left(\sum_{i=1}^n \left(\langle |A_i| \hat{k}_\lambda, \hat{k}_\lambda \rangle^2 + \langle |B_i| \hat{k}_\lambda, \hat{k}_\lambda \rangle^2 \right)^{\frac{1}{2}} \right)^r \\ &\quad \text{(by using Lemma 3)} \\ &\leq n^{r-1} \sum_{i=1}^n \left(\langle |A_i| \hat{k}_\lambda, \hat{k}_\lambda \rangle^2 + \langle |B_i| \hat{k}_\lambda, \hat{k}_\lambda \rangle^2 \right)^{\frac{r}{2}} \\ &\quad \text{(by using Lemma 1)} \\ &\leq 2^{\frac{r}{2}-1} n^{r-1} \sum_{i=1}^n \left(\langle |A_i| \hat{k}_\lambda, \hat{k}_\lambda \rangle^r + \langle |B_i| \hat{k}_\lambda, \hat{k}_\lambda \rangle^r \right) \\ &\quad \text{(by using Lemma 1)} \\ &\leq 2^{\frac{r}{2}-1} n^{r-1} \sum_{i=1}^n \left(\langle |A_i|^r \hat{k}_\lambda, \hat{k}_\lambda \rangle + \langle |B_i|^r \hat{k}_\lambda, \hat{k}_\lambda \rangle \right) \\ &= 2^{\frac{r}{2}-1} n^{r-1} \sum_{i=1}^n \langle (|A_i|^r + |B_i|^r) \hat{k}_\lambda, \hat{k}_\lambda \rangle. \end{aligned}$$

Now, taking the supremum over all $\lambda \in \Omega$ we get the desired result. □

For $n = 1$ we get the following inequality.

Corollary 6 *Let $T \in B(\mathcal{H})$ with the Cartesian decomposition $T = A + iB$ and $r \geq 1$. Then*

$$\mathbf{ber}^r(T) \leq 2^{\frac{r}{2}-1} \mathbf{ber}(|A|^r + |B|^r).$$

Declarations

Conflict of interest The authors declare that they have no conflicts of interest.

Ethical approval This article does not contain any studies with human participants or animals performed by any of the authors

References

1. Bakherad, M., and M.T. Garayev. 2019. Berezin number inequalities for operators. *Concrete Operators* 6: 33–43.
2. Bakherad, M., M. Hajmohamadi, R. Lashkaripour, and S. Sahoo. 2021. Some extensions of Berezin number inequalities on operators. *Rocky Mountain Journal of Mathematics* 51 (6): 1941–1951.
3. Berezin, F.A. 1972. Covariant and contravariant symbols for operators. *Mathematics of the USSR-Izvestiya* 6: 1117–1151.
4. Berezin, F.A. 1974. Quantizations. *Mathematics of the USSR-Izvestiya* 8: 1109–1163.
5. Bhunia, P., A. Sen, and K. Paul. 2022. Development of the Berezin number inequalities, [arXiv:2202.03790v1](https://arxiv.org/abs/2202.03790v1) [math.FA].
6. Garayev, M.T., M. Gürdal, and A. Okudan. 2016. Hardy-Hilbert's inequality and a power inequality for Berezin numbers for operators. *Mathematical Inequalities and Applications* 19 (3): 883–891.
7. Hajmohamadi, M., R. Lashkaripour, and M. Bakherad. 2020. Improvements of Berezin number inequalities. *Linear Multilinear Algebra* 68 (6): 1218–1229.
8. Halmos, P.R. 1982. *A Hilbert space problem book*, 2nd ed. New York: Springer.
9. Karaev, M.T. 2006. Berezin symbol and invertibility of operators on the functional Hilbert spaces. *Journal of Functional Analysis* 238: 181–192.
10. Karaev, M.T. 2013. Reproducing Kernels and Berezin symbols Techniques in Various Questions of Operator Theory. *Complex Analysis and Operator Theory* 7: 983–1018.
11. Kittaneh, F. 1988. Notes on some inequalities for Hilbert space operators. *Publications of the Research Institute for Mathematical Sciences of Kyoto University* 24: 283–293.
12. Taghavi, A., T.A. Roushan, and V. Darvish. 2019. Some upper bounds for the Berezin number of Hilbert space operators. *Filomat* 33 (14): 4353–4360.
13. Vasić, M.P., and D.J. Kečkić. 1971. Some inequalities for complex numbers. *Mathematica Balkanica* 1: 282–286.
14. Yamancı, U., M. Garayev, and C. Çelik. 2019. Hardy-Hilbert type inequality in reproducing kernel Hilbert space: its applications and related results. *Linear Multilinear Algebra* 67: 830–842.
15. Yamancı, U., and M. Tapdıgoğlu. 2019. Some results related to the Berezin number inequalities. *Turkish Journal of Mathematics* 43 (4): 1940–1952.
16. Yamancı, U., R. Tunç, and M. Gürdal. 2019. Berezin number Grüss-type inequalities and their applications. *Bulletin of the Malaysian Mathematical Sciences Society* 43 (3): 2287–2296.

Publisher's Note Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.